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(viv) A
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‘b‘
() False \
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(V) Folne 0

(v) Fulaev

(vin) Falge
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(%) False
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Solution ~o3:-
csy Faclars for the natiopel number €8 ane
,a, 4y, 11,34, 6%
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() factors for the nalnnal mumbers 27 ane

1_:'3}‘51 and 27.
() toclors oY the Adatunal mumbeis 9o ave
(BB, e W 14,15 ,21,20,3s,42,70.105, 210,

golutiomn -04 .-
yudtiples of 4he nalunal numbey 3 ooy

iy cixst S*

5 LN N% B 'S

1D F'\TE‘T Lk mulbiplea of the noboa) mumbe; 5 ang
5,10, |5,10,15,3&

() £iesk St eulkiples of the o RN 12 an
12,24, %6, Lr%;éﬂ,'-]l.

Solukion -05:-

c15,30)

D 15 &> (b) Fackoy of %0
€q9,i8, 21,36

oD 36 > @ il Ple of 9

o 16 e & Walkple of 2. (%, 16.29)

av) 20 2 (B GFacter of 20. (20,40,60,--+)
(v) 25 &> o)) Factovof 50 (25 ,50,15,100,--+)

(v 210 > € mutkiple of 7o 10,140,210,280....)

591!1.5::‘0-06'.‘*
o gFackwsof 20 — 1,2/4,5,10,40
Faclovrs of 2% — 1,9,4, 114,08

CoTrITNOT 'FGC]'GTE — 1,2, 4,

(i) Faclows of 35 2 L. 5, T, 35
Faclos sof 50 = 1,8,5,10,25,50,

foMmmo N —chi-oré —5 1, 5.



o Fﬂ.CI‘DTE of 56 — *;2; LI‘,-L%IIL.IJQE'SS
Faclors oF 120> 1,2,3.4,6,8,15,20,30, {40,60,12¢

common faclors — 1,2, 4, &

Solution-071!-

&y Faclors of 4 — 1,2,4,
Faclovs of 8 — 1,2, 4,2
Factors of e — 1,2,3,4,6, 12

Bora P Factors — L2, 4.

oy Factors of 16— |, 2,56, \0
Factors OF 39 — {,2,3,10715, 30f :
Fau:l:ﬂr‘rs of 45~ 1.3,5,-:1,@@,

£ o ToN factors — e o

<olubion-08g.- . ‘\é
Commoen yaulkiples D@ IEG&-‘[%:&T} loco...7

'ﬂu).lh:lFItE O"“ 3 A E;qilﬁjl%jahzlﬂ’ 2.];3& 33

3¢, 29, 42%9, 51,54,59, o, £%, 56, ﬁﬁl 732
n Fl

15,19, 21, BT, 90. 93, 96, 19.

tiples of § = 4,8,12,16, 20, 21 4g

3R,
48 52,56,60, 64, 63,772,776, 8o, gy 3690 b

ggf c%'?) ﬁ(;,.il'
Comman wudtipley of 2 and 4 ae. -

12,24, 346,4%, 60,12, 8Y, 96



SDIULI'OH -09.-
(i5 The odd mumbas belween 36 and 53 ay
e

21,49, 41, 43, 45,97, 49,51

odd mumbens Letween 232 and 2g)
e

an The Fien

234, 236,23%,240,&42_, 26 ¢ LGE,24q
| r = 250,
solukion -lo!-

(Y foun comsecuktive odd mumbens <
&l 83,565,871 Heceeding 19 axe
£ny B oncecubive even mumbas pretegli
114,120,122, Y 12 cne

golukion -11:-
gmgal-eﬁl" prime mMmumkbe k&tween |and !5 s 13.

Jime numbels Letkween Vornd 15 @32 2,3,5,3,1 !3]

A o

Solukion - 12 -

(i) factors of BN 1.29.
29 i5 agfEi?e i<

ai) factors ot 51— 1,3, 1957
£1 i5 mob @ pPrime numbe
AR poctors of 43 7 43,

Lz 18 & prIme numb

(v tactovs of 61— L BLGY .

G\ is a Pyvime Tumbey



Solubion -43 .-
(i we Shall Find the Common Afackors of 12.and 3g
The {actors OF 12 ane 92 - 0 LY N e
The -F'CLEI"DTS DF 35 am e |',r5_,'}',.35,
we note Yhali is the onJy common faclory of
(o) and 36.
Thenefove, 12 and 36 ane co- P¥ima numbess.

factovs OF 15 ane 1, 3:5 .15
.35,

Thé

we mote tnab 4 i o 4ne orgfcomimon fackor of

|5 and 37T.
L Theseftore, 1S and. E{‘I’Bﬁ]é-co-—f’r'ﬁme ﬁum!:u&'rs.

() we shall find & Eommon factors 0f 1532 and
21

The focltors o® R7 aye 1,3,9 ,27
e '-E'-QC“!,‘DH'E of 832 ane 1,2,4,%,16,32 .

tIe ﬂg’;vﬂ Hho bt A 12 the Cll"\.e-/_*j COmMmmow F&CI:DTDP
21 and 32

. Thesefore, 21 and 32 ane Co-P¥ime numbeis .

civ) e ohall find thwe common fackoy of 17 and asg

“The ‘FQC‘:E}TS of 11— 1,17
The fockors of az 2 1,175, 88 .
we mote that A,17 0%e Common factoss So

M2 &5 ane mol Co-prime numbeys .



cv) fackors BE 515 — 1, 5,563,515,
foclors of B16— 1,2.,3,4,¢,12,24,18,36,48,7,
qg: ik ,616
e note that 4 is be only common factort of

515 and 516,

Thesefove, 515 and 516 ase co-primes.

V) foactors ofF 215> 1, 5,. ...
foeltors of 4l — I, 5, - -
we note bthat 1,5 ame cormmman $aetore in both
2p 2154 415 ane not Co-Pyime Pumbe g
Solukion ~14'-
Note thal this could bepvne ot the Ways. Thuse com
Le othe Ways alsoq
(VY Y = 5419
(i) 86 = 1+24y
oy B4 T Neen

Gvy 8= 19499,

5_01ut-‘cn- 16!

Note #mak bris could be one of the woys. Thene cay
be obtner woys alge,

L) 24 =1 413

() 3617419

any 84 = brvya,
(v 120 =594



gplubion-16:-
poke that thisg could Le one oFf the Ways . Theye

Can be othey ways also

iy 2\ = 2+ 3 11
cny 35 = s+0+19.
aw  4a = 1tnd 3

@
\‘F&
N
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Calewcice- .2

Splubtion-ol &

we <ind t’QQE factorisation of the given Numbers

by Adwvision m od- .

5 | 26 o goin 2 is afactor of 34

— N -

o - again & IS afacteref g

) P Peime 2 is oafactorpf IB.
i e

— SkoP hexe 2 is a Prime.
98 = g an 3RE AT



an V2

g | V1 psime 2 1S a factor of M2
al| 86 o gqaoin 2 18 & factay of B¢
43 -3 ctop herve as 43 1S Prvime

L2 = Q42%43.

o) 4850
21450

—

225

I

|9 ("

| 45
9 ; )
——>  — StoP heje 315 O Prime fumbey.

J.450 = S45YSAIZAG .

(W) 9qeo. QQ
\z .

o

— 5 @ s o Pr¥ime numbeér

A - o ) Y R MEN A 32322 4999



(v 13500

12500 = 2WARXSASLE XTI AL

Solution -p3;:-

The smallest 3 diait numher 100, e eatest 3 -

- dight Numbey 999, e
we find the PyIme Pmck\@yﬂ of 100 by

Aivision wmetnod o 4 =
2 @1 s a {o..c:lrnv af oo
e " of So

—

(Kals’
'___--"
So
5 5"-50 e & 18 a {actor of 25

s gtof hese 5 I8 o P3NP Dumber

Voo = R4 8 AL5HUS.
we find the prime factorisabion o©f 999 Ly
divigon mehhnci-

41299 — Pwime 3 ia a Fockor of G054

3l 333 n 2273

ARR! .
— Stop heve W is a prime

Mumbey

S OO e AR



galukion -04 i

The Swallest 5- Aigit pumber 1S 10000

we §ind the prime fackorisation of 10000 by division

menod:

5 —> ckop heve &R & iseﬁ
- B+DtR #&at-wsisig

V000 =
SolWwX\on - o5 - \‘b

Srholiest rumbe’ H::w- uyr different psime

TG i
focto s ihe Q of firstk foum prim e

$a numbe 15 0
- e %5&‘1 - 6x3c

= Q10

“© Swalleat npumbeY =210,



Edescis€- 4.4

Sﬂ\ul:\»ﬂh"ﬂi

(V) 98, 36
for Pxime foctorisation of Qiven nNumbers, tae have
[
2| \2
g | Y -
Bl A
1. e
2.

e = 2L L7

QO

Notice thar & occurs as n.emnn P¥ime facky,
atleast & times.

4
. A C.F of 26 ﬂ-hd\ = Q%%
0'% =y,

ciy Ao Pyime FQ&Q&DH of 9iven numbers We have

g__l—E_'l o E__j?_-—u
3 |&%F 5|45 54 = 2¥3%43x3
- la M 12 219 T2 = 240Y¥ L4343
= iq B 9o - 92y343 s,
.5
Lde notice

that 5 OccuYs asg

common Prime facts,
at least one time and 3 wg 9 bim |
es

CH-CGF T vz 42

= \g

1% s H.c.F of SY,73and g,



(> For pwime factorisation pf given DNumber, e haye

e
D . |70 - s
s 5 |25 \"l-

3

Le rotice that S and 1 occurs akleast once as

) the
Pyime foctor N oalk thyxee ﬂ‘IUEﬁ gl erg
. w-c-F of 105, 140 and 1t5 ¥ =z

Gy 14@) 429 (2 'D‘W"- the Longer Mumber by
296 Smalles wmuml e
?@rﬁmais . 1 e firge divissr L amdin
@ (Last Adivisor)
");I
cLoH & and ‘rzq s an,
(WY Letr us that He F of 20,64 and oy,
A%Y 6y (2
&o
W2o(s
20
o
H) 1oy (e
Loy
a .

RCF of 20,64y and loy is Y



ciiiy Let us find the H-¢-F of 129 144 and 04y.

taoy 1yy (1
180
a4y 180 ( &
Qo
o.
24) oy | B
192
12) 24 (2
2y
o) -

H.c. F of 120, 44 and 20y

golukion-o03 .-

N
S

Oy -

Selurorol!-
— o

1 by bhe wedsived mMutbeY, s is
Leflt a5 o vem So 251-5 (e R52 16 eractw

Ashah ve Qﬂk Nnumben .
z ALY, e e_—i_.p_.:-ll‘j d:l"u.l"l'.«.Si..lgl.E by

Similanly 229-5
trat MumEEY . Thevefore, 951 and 224 ome bLOth

divisible by that numbey. Thus , ne requived rumbo

e we-F of 252 and 32y
252\ 324 (!
25
~a3325:(3
me
2e) 120

-
o

Hevice, bve weawved rmuarber - 36,




solution -05:-

when e 623 15 divided by a wequived number.
“ -
5 35‘5‘#‘; seamred Nuwmbey vemainded . 55 02 -3¢

c20 (s eraclly divisible by that numbes

Similonly T729-9:=120 -
a241-1 =840

69_0)')')—0(_\
620

ooy E20 6
L8 o
a0y 100 [

loe
2 0) 84o (Y1

Q)
8y 0 .
s
Lon.cfod 8""23 SHE Gy
Solution- OE-" x

Rice bog w 6qrg and NSEY.

éi‘v‘\d.e@a{ef number by arnally numbe,

89" 15 (Y
69
~6) 691N
E_G__
296 L3
3

i

0.

S akg of weishe Can MeE asSuwir i ead,

enack humbey iy -



Solubion -0

caPociky 0F +tonken | = o3 Likve.
CapPacivy ok baner 2. = 434 Likve

capacits of Eanke % ﬁ[ﬁgLitfﬂ'

The rvequved containy thal can bLe M€ ftone fig

Aiesel of thwee conlaine s E€dact ruwmberof LM is

w-o.F ofF o3, b3y and Hes |

23 ) by [
Lol

21) 403 (13
YoR

D Q
) Heslis
e \Cb




colukion-01i-  (division method)

Y 2%4.,.9% pyime faclosisakion me hod
2| 28,44 A E=-AxQYT
“an A8 = Sewdd Ay

Pl M = 81 ES = 98

= \9¢

_ e IR
S af.&%ﬂ“dqg Sx T AT

QD 36,40, 126

MEIY O 8

Ei_qi EfEE
'3 3}5;2—’

@
b S 3 \
L.oc = qﬂﬁt?-‘“%

: wqo\
Wy oS, vas, \e

2‘ \o%: V2

5

q
'E.iG’ 9

2.! ':_;IS‘

(i ey, o9, 196

g 24,928,196
1 ! 6, 11 49

G.r II‘ '1,

.'r L'C-m :q"-’li‘sﬁ.q
= LI .



Et:llu'l:.i.ﬂn -0 -

). Lcm of 430 ond €713 .

& 1480,.672
P T

7 120,168
a | 6° .84
2 3o, 43>
; 5, 21
‘_l 5, 1.

L.C™ = a9 +2A2LALT LE ¥

= B3IL0 .
Ay Lcwm of 6,9 and 45, Q
21 6, 8,49

5 BRI ‘b
‘1:

L aH:&ﬂﬂ

]

iy 24,400,804 Q

2| & B4
2| V&, e
[ NG .
1o, =\
E;__i“___:_.—-—-
B 2, Yo, T

T [ ol s S+ EREATFA LILASET

= Bhe



Civy. ﬂ.\ 20, 26,63, 717
a—\ \o,1a, 82,717

-1\ S, A, 63,717

;\ SS9, H; W

—_—

rl s, Lo,

L.C.M < 9 x8A7ELS \LIAL
- 13360

Selution-o03:-
e - 'K [—

Fixgt we Rind the least number W L exac by

divigible bY 15,35 and 4@ . For w2V £imy al

L.e.™Mm of 16,25 and 4% . ‘:

5\'-5! 25, i%

?\3, A, 48 \Cb

ll,ﬂ, '.?:'

Sopem™mM B8 and 4% = ‘Bx3A ¥TXIE

- &g o .

Thus pumnber 1680 lg the L.eM which i g
divisible by 15,35 and 4e (.€ 1680 S the least nunba

e nwmbey 1§ in €ach ceae. Bub e have to added

s in the coxt

“Theve 078 ,-4['-15_ véequyed numbetr = légo-15

= IS-'E:SL



solubion -og! -
Five t we find the least numbey Which is exactly

divicible by 6,15 and 1&. FOX this , we find

LcM™M of £,'5 and 15

T e RALZES5H3
= 9,

Thus, 90 15 the least numbey which I8 etackly

divisible by 6,15 and 1® (. e. aaQ s

Whith  When diu;d-ﬂd Ly khe -:r!],wgnn

st number
il leave

bhe vemaunder 5 1N €ach fase (23 need the least

Wl ber Wk Ch leaves the ‘zyr\der S in each ;e

Spolution -0S 3

o
Firot WE £ @'a b onumbey L i Chy 16 edackly

divisible by 2 Jys and 54 for tus, we find .

Loy ,BGIL}G and 54.

% 'lﬂ, V5, 45,21

x| 6 9, 45,27
2 R, 3, 15,9

Sy 3

3

&: \, S |

L
e —

b

i

L.C.M = 203 +243424 5
\C&o .



Thus, 1D 80 15 the leéast number which (5 enactly
dwisible by 24,36 45and 54 (e (1080 is8 the leagt
nuvob er . hich Whern divided by the giver Number s
Wil leave tme yvemaindsy 2 iy each case. Rut we
need the fast mumbel  whid, leaves i, vemains

2 e fach faSé -

hevefore, the wequived number 10804 2

= |83,

Solubtion-o06 "
Fivet. we fird the LM 3,20 a

_.{l B,.l ﬁﬂfﬂﬁ"‘l ee

z .
L L.c.™m of 9\wWen au X UL ASE3
x - 2o

%Teﬁl-esl: QF 4-digits 15 Q99
e d.i-u‘-,de 9 120 and £and the Temadlnd_q
‘b(d qiwve n condibion, we need a

Ac
g'ﬁ"" number wWWch is divisible by 120,

f-'ﬁ-rea.l'ﬂ&k
vegw Yed number = 999-2q
= 94 60

1he

l20) A9 ( §

B¢o

Sh



Splution -o015%-

Firat, We find the LM of 32,36 and g

9|32, 36, 48
g |le, |l .84
2 | B¢ 9,
2| 4, 9, ¢
% 4, 3,2
J&'-r?': 1.

1

L.c.m bf 32.36 and 4 = ALOYA 43 4 82940

- &
smaliest Mumber gf L. duigits
We divide teooco by 282 and mt‘he 7€ mad hday
Accovding to given Coﬂ CU we need o
Smallest 4-digit nu.rr.be.‘f ie edacktly

Aivisible by 2886-

.".'

0 136
'&gtﬁked rumber - |ooo- 126 =%by

Sraltest Dumbs = @ 4L t2ag =I5 L

-E,::}'Lu;'t‘- an-0% .-

rivct.we find the L. M of @, 12z and Ro.

aya, 19,20

al &, 6,10

‘l ﬂ13p5-

o

Lomof B,12and 20 242%243%5
= 1820.



Srmyallest! nuveber
%TE‘I!Z'.‘:E*E‘: num ber of 4- di'ﬁln.'S 'I:E'-. G’qqq

We divide 9999 by 'R0 and {ind the ¥emajnde

180) 9qaq (83

Q60
295
2 L0

29.

Accovdin®  to given Condition. we need & Yreatesy

4-digit number  awich 1a dwiaible by 190
JoThe ~ equited numbey = 499924
= 1AG0Y |

solukion- 09:-

riset we Fnd the L.cM OF B ¥ and 45,

Lec ™Mot 33,3 6and 45 = Lyyyx 3 AIX LS
= |4Yyvo.

Greakest NurNRE oF &. dugits = 9494949

jeast Number of &-digiks = 10000

lyyo) 10 0ol 6
g gho

3¢ o
e Tegu red Tmuw Ly <= |BBOO - 1260 = % 6490,
L€ oalmummbs ~fbEye b b4o - looso,




Solubion -10%-

e dictante covened by €ach of them 'S tequired

to be the Same ﬂ.:E WEN as ™INIMmuM . The Yequired
: ea

i wim diclance ehould walk would ke Lc ™M of

e measuwa o+ tne sleps L.e €acm,Tocm and 1Ten

find the Le-moOf 63,70 and 717

So we
483, 07
q. o,
L.€.M pf 63,10 and 171 = 71X Xloxl

2 Ri¥o.

' The $equived mihl:hhumd.ia@e = 6930Cm

T A8 m 3(3{!1:1
.
qlT. \b
Tyaffic S\gnalyd 'a%a}: Hunee i ffevent Yoad

s#M2 seconds and los Seconds

Solubion-11-

change afbey 4

sespeckively.

8 S5, 1728, (08¢

o |9, €9
5 &J?l.dni
a2,\, 2

‘o L.c.™mof y@,n8,108 = 12X X4 Bx4

_ uzn 5econds,

Aeninuler 19 5é¢onc15 pasl.—' 1AM,



golution -\25%-
L.c.v of two nodumed numbeys = fhecr prodact
theiy HC.F

=z 3c
- 4532
1z

.: 335!

L.e-™ pf two numbels — 336,
5¢Lt_._tit}r~.~1$'.-
H.c.-F = q

L.c-tv = 230 Q

one of the numba = 45

@
L-c-M % H-&-F@ - 2

‘Lutinnm
- 4 to £ind the HCF ot

Wwe use division mebho

130 and 33§ .
1a0) 23601

l2o "
2o (0
1S6) il

2y)veb L€
Iy

vyl -
¥

ﬂ.
LARCFE =2



L.c™Mmythe BT \Bo¥ 23§

5
186 £3% ¢
\z

L.L.-M =

504p .

"

Sowkion- 15 -

— it

1) 1o (7
| 0%

e

< .
on dividimg Lo by 15, € get

ptient and & as remead

TEmmlﬁciM % 1o 15 hal

A visibie BY 'S - CLJ
O
. There fove. H@ Lc.M ot tuo

‘ ot b a llo wespectively
Aunetrs  Cann ‘
L.em N wnbers 16 alway s €rocky

Ramaoﬁi
C. Foe

T as i

Aivisibl & by

‘QQ



